| Mode: Find the Missing Number Name:

(]
Choose the best answer
Mackenzie has the following data:
g, 10,10, 8, 8
If the mode is 10, which number
should g be?
10 8
B
Choose the best answer
Isabella has the following data:
g,1,6,95
If the modeis 1, which number
should g be?
6 1
B

Choose the best answer

Isabelle has the following data:
q; 11 11 41 4

If the modeis 1, which number
should q be?

1 4
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| Mode: Find the Missing Number Name:

M

Choose the best answer
Zoe has the following data:
f,3,3,8,8

If the mode is 3, which number
should f be?

Choose the best answer
Zoe has the following data:
f,3,3,8,8

If the mode is 3, which number
should f be?

[+
Choose the best answer

Mia has the following data:
f,1,1,5,5

If the modeis 1, which number
should f be?

1 5

0% MO'l'h Gomes Get more worksheets at http://www.mathgames.com/worksheets

Play online at http://www.mathgames.com/skill/7.175
TeachMe, Inc. ©2024 All rights reserved.

CC.7.175

Page 2 of4



| Mode: Find the Missing Number Name:

|ﬂJ

Choose the best answer

Nick has the following data:
k,2,7,4,5
If the mode is 2, which number
should k be?

7 2

|ﬁJ

Choose the best answer

Grace has the following data:
e, 10,10,1,1

If the mode is 10, which number
should e be?

10 1

B
Choose the best answer

Caden has the following data:
x,0,2,4,8

If the mode is 6, which number
should x be?

6 2
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| Mode: Find the Missing Number Name:

#10

Choose the best answer
Brayden has the following data:
m, 5,5, 8, 8

If the mode is 5, which number
should m be?

#11

Choose the best answer

Isabella has the following data:

g; 11 61 91 5
If the modeis 1, which number
should g be?
6 1

#12

Choose the best answer

Brianna has the following data:

d, 7,395
If the mode is 7, which number
should d be?
7 3
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| Mode: Find the Missing Number Answer Key
Question Answer
#1 choice 1
#2 choice 2
#3 choice 1
#4 choice 2
#5 choice 2
#6 choice 1
#7 choice 2
#8 choice 1
#9 choice 1
#10 choice 1
#11 choice 2
#12 choice 1
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